1992 4E 1T R 3 [5]

AL x? + y? =1 B (cosb, sin 6) (O<9<%j (b STHRAY S N 4

(cosO)x+ (sinO)y =1L KX 5, ZOFEME, xll, yilh: O8I,

%zh%“ﬂ[ 1 oj, (o, Lj B,
cosd@ sin @

EEOBEKL. KEOLE | BS L OmEEThE N
cosd sin @

1 1 1 V4 V4
V==rx- > = . .2 = . ia3
3 cos“@ sin@ 3sind(l-sin ) 3(sin@-sin” H)

V B E/NZR A D, sinf—sin®@ B RIchALxThb, 1
f)=t-t*LBx, 0<t<licBlT HHMET 5, t 0 7 1

f/(t)=1-3t2 = (1+/3)1—/3t) P P
WA DIl D T t:%m%%mmo £(t) / N

1 1 1 2 7 3J/3 3

fl= = —e=—kn, Voo TS ()

[\/5) J3 33 33 3 2 2
T L XA, sinazg,coszezl—%zgib (g?] ------ (%)



